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(1) AB=AC

(2) AB<AC

(3) AB>AC

{4) AB<BC
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of the polynomial y* _ ke + 1 15— 6 18—
(1) -

(2) 5

(3) 2

(4) 6

. Ifin the given figure

‘0’ is the centre of the G

circle, then the value G
: 0
of x is-

(1) a0 A 0 B
(2) 50°
(8) 20
(4) 40°
if A ABC is an obtuse angled triangle in

which »c =0 then which one of the
following is true-

(1) AB=AC
(2) AB<AC
(3) AB=AC
(4) AB<BC

The number 50 is divided into two parls
siijch that the sum of their reciprocals is
5 then these parls are—

(1) 30 and 20
(2) 10 and 40
(3) 25 and 25
(4) 15 and 35
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If 1og [Iug_,(lug_ 5" }].—. u then the value of
is-

(1) 16
) 8
(3) 64

(4) a2

196. U WER P AN, SFEE 8000 ¥1198. The present population of a city is 8000 jf
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(2) 14400

(3) 10560

(4) T & g &

it increases by 10% during the first year
and by 20% during the second year. then
population after two years, will be— -

(1) 12400
(2) 14400
(3) 10560

(4} None of these
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408. fdt fte @ gaE ¥ 100 #ieX Sars 4x 198. The angle of elevation of a cloud from a
fer e fag A frdt aras @1 9994 point 100 metre above the surface of a
A7 30° Ryt # gEe wRfdw W lake is 30° and the angle of defression of
ST VT 60° ST AT | E?IEI_% A its image in the lake is 60°then height of

q 9= F S B— the cloud above thelake is-
(1) 100 # (1) 100 m.

(2) 50 # (2) 50 m.

(3) 200 # (3) 200 m.

(4) 150 (4) 150 m.

199, 8 B @ UH |qg @ WA (3fRT) 190, The mean height of group of 8 students is
Srarg 152 Wt # | <) o, R S 152 cm. Two more students of heights 143
B 143 WA T 156 A 2, 3l a7 T cm and 156 ¢m join the group. The new
£ | 39 PR GYF &1 T Ay (o) mean height of the group is—

2

(1) 151.5 ¢m
(1) 1515 99
(2) 115 cm
(2) 115 9
(3) 152 ¥ (3) 152 cm
(4) 200 D {4) 200 cm
200. IR “EE"E 2, el p o q oW e 200 If ”~3=f where p and g are relatively
amTon guiies B, @1 g &1 A - prime integers, then value of g is—
(1) 10 (1) 10
(2) 3 (2) 3
(3) 1 (3) 1
(a) 9 (@) 9

PNP-NTS-2018 (57)



